AR N2 RO = i R 7280 (4 1)

% 22 Hod3F 551 BB B ek = Ri ik
E-Hou%xEA5T - REVHIPY LIFET A7 21R ()
il YN ks
B LtmbUsEAT TTATHEEDELT HARUNR

1. SRKE
BN FEDEEATIEL, RONCENDELEDRBNZEDTHOC, 6FBDHKRIEIRIES UL\,
BNT7TFEODAZAZR T, IO TOFHOERABEDERMEZRAUIL,

2. RRERE
SEEREZFNEMIERZT o2, COFFEBHENNTERETEBC LU TN DRFHLRESND,
RVEETHRC L. MBOEBHTHONL, 2IDOSNEDRIDT THEDEL), FEDERATE
2. LoDDERABEEDTNEEL,

3. BC#BN
N7 EFEFREEHRSEE] =

W

88
L)

4, SNTFEOFREEBASDOERICDONT
RIN7TEE (2025 F8) FREERFZEEBR] SR
BRBE  ZRI—T 1 R—Y—DXRERZR DI OINE

5. BT EEOFREEBRBESDFEICDONT
EREERBSEBSETENTIES] SR

6. FROHYEFEICDUNT
BT FERRBESFEICDNT
MBPRIN—ANR—Y [HN7TEE RERE:E) SR
X ERERNOMIC, AROERBESTE (BL\I 7)) ZEHm U,
Q@BARRNER 1\ COHIBIEREARTIEHC DT
MERIN—LNR=Y N\ EFHIBEARNER  L\COHIBIEEATIE ] SR
AR TIE, N\EFRDRBERICANBEEA S5DEZ NN\ UHKIRESR] (CRIBNIT. EMENES
ECEFOTUBRHEBEN > T\D, T, AR TIEREBICEA N\ UHICENHI PV -] &X
M. WNCHDREIFERICEZHTIND,
DH7TEE BERICDONT
[H7TEE BBRERTE] SR




7. (BRI

FRESRESOREDIICDNT

BT EFEFREEmZSEZS ) D FczsR
£ 10 FREEWmE#E= 48218 (B
£ 20 FREEm#E= 58288 0K
% 30 FREEmEZE= 68248 QO
£ 40 FREEWmEZE= 78148 (B
% 50 FREEmZE= 98108 00
% o0 FREEmEZE= 108238 (O
£ 70 FREEWmE= 118188 QO
% 80 FREEWm=ZE= 128228 (B
£ OO0 FREEWm#ZE= 18198 (B
£100 FREEWmEZE= 28148 (D
£110 FREEWmEZE= 38268 (O

8. Znfth
B 58288 0k 17:00~18:00
B I\ EFHUBARNER HMER



